



이름: \_\_\_\_\_

날짜: \_\_\_\_\_ 점수: \_\_\_\_\_

$$(3 - \frac{1}{2})^2 + \frac{1}{4} \times \frac{2}{3} + 4^2 =$$

$$(5 + \frac{1}{5})^2 + \frac{3}{5} \times 2^2 - \frac{1}{3} =$$

$$(3 - \frac{1}{3})^2 - \frac{1}{4} - 5^2 + \frac{1}{4} =$$

$$(\frac{3}{4} - \frac{1}{2})^2 + \frac{3}{2}(\frac{1}{3} + (\frac{3}{4})^2) =$$

$$(5 + \frac{3}{5})^2 - \frac{3}{2} + \frac{1}{3} - 4^2 =$$

$$(\frac{1}{2} - (\frac{3}{4})^2) \times \frac{1}{2} - (\frac{1}{2} + \frac{1}{2})^2 =$$

$$(4 - \frac{1}{6})^2 - \frac{2}{5} \times 4^2 \times \frac{1}{5} =$$

$$(\frac{2}{5} - \frac{2}{3})^2 - \frac{1}{2}(\frac{1}{3} + \frac{1}{3}) =$$

$$(\frac{2}{5} + \frac{1}{2})^2 + \frac{1}{3}(\frac{1}{3} + (\frac{1}{4})^2) =$$

$$(4 - \frac{1}{3})^2 + \frac{1}{6} \times \frac{1}{2} \times 4^2 =$$



이름: \_\_\_\_\_

날짜: \_\_\_\_\_ 점수: \_\_\_\_\_

$$(3 - \frac{1}{2})^2 + \frac{1}{4} \times \frac{2}{3} + 4^2 = \frac{269}{12} = 22\frac{5}{12}$$

$$(5 + \frac{1}{5})^2 + \frac{3}{5} \times 2^2 - \frac{1}{3} = \frac{2183}{75} = 29\frac{8}{75}$$

$$(3 - \frac{1}{3})^2 - \frac{1}{4} - 5^2 + \frac{1}{4} = (-\frac{161}{9}) = (-17\frac{8}{9})$$

$$(\frac{3}{4} - \frac{1}{2})^2 + \frac{3}{2}(\frac{1}{3} + (\frac{3}{4})^2) = \frac{45}{32} = 1\frac{13}{32}$$

$$(5 + \frac{3}{5})^2 - \frac{3}{2} + \frac{1}{3} - 4^2 = \frac{2129}{150} = 14\frac{29}{150}$$

$$(\frac{1}{2} - (\frac{3}{4})^2) \times \frac{1}{2} - (\frac{1}{2} + \frac{1}{2})^2 = (-\frac{33}{32}) = (-1\frac{1}{32})$$

$$(4 - \frac{1}{6})^2 - \frac{2}{5} \times 4^2 \times \frac{1}{5} = \frac{12073}{900} = 13\frac{373}{900}$$

$$(\frac{2}{5} - \frac{2}{3})^2 - \frac{1}{2}(\frac{1}{3} + \frac{1}{3}) = (-\frac{59}{225})$$

$$(\frac{2}{5} + \frac{1}{2})^2 + \frac{1}{3}(\frac{1}{3} + (\frac{1}{4})^2) = \frac{3391}{3600}$$

$$(4 - \frac{1}{3})^2 + \frac{1}{6} \times \frac{1}{2} \times 4^2 = \frac{133}{9} = 14\frac{7}{9}$$